H & 0l & AHS B Ml A

20233 = =0llah LB S AIEH

S£A: SAIZEHID

M slag 22
el Stk dHl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AEHI 1t 3,090,426 2,358,861 731,565
AlHI 140,000
Tl 2,950,426
ot== 2el 1,696,920 756,420 940,500
Albl 140,000
Tl 1,556,920
ot== FHI 1,696,920 756,420 940,500
Alt] 140,000
Tl 1,556,920
ot B 301,600 294,000 7,600
206 M=l 43,600 44,000 2400
01 MHZH| 43,600 44,000 2400
Oodt=Al2 SHl AL 43,600
Ot==2t 22,000,000 22,000
HE = 12,000,000& 12,000
CNBIE, D3 S(EXH)
4,800,000 4,800
Qs HIE SAXH
4,800,000& 4,800
401 Al HIZ S OHbI 258,000 250,000 8,000
01 A28l 258,000 250,000 8,000
Odt=k AZ2ad SAH
120,000, 0002 120,000
OB LEUEEY FY|
42,000,000 42,000
Odt=E ZHIZAM 96,000,000& 96,000
ot =& 275,320 257,420 17,900
201 get=3y| 28,420 38,420 10,000
01 AtR2tc|HI 22,690 33,890 211,200
OFE4E ZHl gxH(2ED| S)
12,000,0002 12,000
OZU ot=2=Z XA CCTV S
10,000,000 10,000
Odt=ZAIEE MEA 2RSIIEH =838
Xl 3,000& %3021 D
O=EEMNE S0Z28 YUI0IE
600,000& 600
02 S5=24g4l 5,730 4,530 1,200
Otz =48 JFUE AIE
40,0003 =2CH+ 123 960
O%& s8R= 2,250
Il (&) 2,500 128 30
+=E= (X&) 50,0003 +6E 300
He gud SMe & e
150,000 * 14 A x 12 1,800




A ZAIEHI D
Hu: o 2l
&2l ot=& FHdl (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-AIR(UEHE DRE)
10,0003 * 122 120
O32A JAAME =k & H)|ILs R 2,520
=E=2 160,000& +6E 960
&=z 130,000& «12& 1,560
203 HR=H] 900 900
03 A=A 2= 900 900
Ostazel ZRAL %
1,000, 0002 *90% 900
401 Al HIZ S OHHI 246,000 219,000 27,000
01 A28l 246,000 219,000 27,000
O ot JIHEL 246,000
A =4 150,000,000 150,000
- E=4&E X 96,000,000 96,000
ot= =Al2c 5,000 5,000 0
305 Hia =S 5,000 5,000
01 HHAI2S 5,000 5,000
OBt+E SNzl Sty
5,000,000 5,000
S Y2 LY HHEMHSAHFLAUZ A 240,000 0 240,000
401 AIEHIZ SR OHYI 240,000 240,000
01 Al&HI 240,000 240,000
OZES JHIA €& HASHSA
240,000,000 240,000
BUIE =2NTEE BUNHFTHEY 9,000 9,000
401 AIEHIL L] 95,000 95,000
01 A&l 9,000 9,000
OBUIZE 2HTES HLOHATR
95,000,000 95,000
2U2E SHRAEE HEFHES 60,000 60,000
401 Al HIZ R 0HbI 60,000 60,000
01 AlZ8| 60,000 60,000
OBURE =2HTES HHEARY
60,000,000 60,000
Aloterdzte|off 2te SEHU HE 2U ol=< PRE 200,000 0 200,000
AZS
401 AlEHIZ 2018 200,000 200,000
01 Al&H| 200,000 200,000
OXloter@pr2|ol 28 SEHN TIE 2
ol PREAIES 200,000,000 200,000
St FHE XSO EXIALE 100,000 0 100,000
401 AIE2BIXL S THYI 100,000 100,000
01 AlZ8| 100,000 100,000




A ZAIEHI D
B ghag 22
el ot=E FH (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ot SHSXEN XA
100,000,000 100,000
UHS 2ol OHUE 2E SH2EE BEx-2dSAt 200,000 0 200,000
AltI 140,000
-l 60,000
401 Al HIZ S 0HHI 200,000 0 200,000
Altl 140,000
Tl 60,000
01 Al&HI 200,000 0 200,000
OlEsS tt==et OHE €3 SHFAE=S
SELSA 200,000,000 200,000
AlH] 140,000
T4l 60,000
NEHESIUNE 2 ==ot+=22 FHIAIY 100,000 100,000
401 AIZHIX S0HH 100,000 100,000
01 A28l 100,000 100,000
OXgt&otiis 2 ==ot+=22 A
100,000,000& 100,000
ZHYSYFF 22 ot MESA 85,000 0 85,000
401 Al HIZL S 0HYI 85,000 85,000
01 Al&HI 85,000 85,000
OB SLRF L2 ol=2AZ MESA}
85,000,000 85,000
ZHES 769-1 L3 of=2Z HHISA 35,000 0 35,000
401 AlZHIZ S 0HbI 35,000 35,000
01 AlZH| 35,000 35,000
OZES 769-1 L@ St=22 FHISA
35,000,000 35,000
S AIEHI 815,357 1,060,357 245,000
SADIBIAIE =5 815,357 1,060,357 245,000
CAAEZEE 16,357 15,357 0
201 Ler23| 14,457 14,457 0
01 At2teltl 14,457 14,457 0
OFAHEANEZE S - 31
3,000,000 *43] 12,000
OXZgle 223 2,457,000 2,457
203 gF=4| 900 900
03 A=A 2= 900 900
OZADNEY =% =X
1,000,000 *90% 900
delaaA 0ESH |2 70,000 30,000 40,000
401 AIEHIX SO 70,000 30,000 40,000
01 AlZH| 70,000 30,000 40,000




2M: SAIFHID
M CAIE
S DADIEAIE =E (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OER=A 0=H RN
70,000,000& 70,000
Cli == di+=d S RAl2el 30,000 45,000 15,000
401 AIEHIX R0 30,000 45,000 15,000
01 A28l 30,000 45,000 215,000
OUHEN+==E di=d S FAl2Ael
20,000,000& 20,000
Onfigtatdiz 22 SHS2 & FAl2c
10,000,000 10,000
TEIAEA L3 AASHAAE =& 700,000 700,000
401 AlEHIZ 2018 700,000 700,000
01 Al&H| 700,000 700,000
O7EIREX] 22 XAHAAE =8 &
= 700,000,000 700,000
s ZNEE 86,651 32,106 54,545
2= 2 86,651 32,106 54,545
=& sE 2el 17,857 17,257 600
201 er23| 17,407 16,807 600
01 At2teltl 3,110 3,110 0
OkzZ2 AEs |1 270
OCRXIA M= 70,0002 #32f A 210
BEEESI| =X
3,000 »20 60
OZUsMA M 10021 %1,5000H %45 600
O8==2 MIES M 2803 »8,0000H 2,240
02 S3=gHl 14,297 13,697 600
OU-=& 1= Sg2cIANLE =2+
500,000& * 122 6,000
oRE= 8,297
S 2,530 *900S 2,217
ksl 4302%14,000S 6,020
203 HR=AY] 450 450
03 A=A PR S| 450 450
O=sgdi=s geFd 500,000 *90% 450
SEZ= JH| 68,79 14,849 53,945
101 e124d| 50,059 0 50,059
M ORINZZ2NSE S 50,059 0 50,059
OsgZ s &Ed| 50,059
Fal:] 86, 1202 «32H 282 6 43,405
SHEEEEEE
43,405,0002 %4 5% 1,94
- IEEERES 43,405,000& %1.75% 760
MIHEERES 43,405,000 * 1% 435




A ZAIEHI D
HE: PN ANHY
ol Z0E 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ENEPEEEEE)
43,405,000& *3.495% 1,518
LRSS FES
1,518,000 %12.27% 187
SXEE 300,000 *3& 900
SEFOHI 300,000 *3& 900
201 Ler23| 4,200 4,200
01 At2teltl 4,200 4,200
O=gZ I=dHl tiE2= N
15023 +2,0000H*25 600
OXZgle 223 2,000,000& 2,000
Osdaus ZHIES 1,600,000& 1,600
301 EtE NS 14,535 10,649 3,886
0 AR=R22e= 14,535 10,649 3,886
OZlsael X 14,535
1= 1,000,000 x1& 122 12,000
- SAH 7,000 x1H*22 x 122 1,848
- wWEH| 2,600 x1H*22x 122 687
HH2IBZHI(ZAIFEHIL) 491,498 509,978 18,480
elIE =g 431,328 431,328 0
olE =gl 431,328 431,328 0
101 21A4H| 418,950 418,950 0
03 SRA(RIH )22+ 418,950 418,950 0
Odt= =LSAME 418,950
E= 3,640,040 x7E*12& 305,764
ESE 120,000 x7 =123 10,080
- EEFOH 3,640, 0403 x7 %25 x40% 20,385
- HUSAH 140,000 x7&* 122 11,760
]
19, 7903 + 7 *4A| 2x522 x150% 43,242
Axtesst=d
19, 7093 x7 H+BA| 2hx25& 27,719
201 er23| 2,6% 2,69%
01 AtR2t2|HI 2,695 2,695
OS3RH(RIIH )22 TI=H| 1,715
xolz 50, 00024472 350
- Yet= 130,000& +7& 910
22 25,0003 +74 175
=25t 40,0003 +7H 280
OSRA(RINAHA)2Z2X AL BHX=
60,0002 74 420
OSRA(RIAHA)2 2N MolHl 422 2
S3=7 18 24 8,00021%72 102 560
308 22 9,683 9,683 0




M HI2AJHI(SAIZHID
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 dtaois 9,683 9,683 0
OSRA(DIAA) 22X ez
3,640,040 72 %38% 9,683
=38l 60,170 78,650 18,480
JI=23Hl 60,170 78,650 18,480
201 ger=3| 16,070 16,070 0
01 AtR2te|H] 16,070 16,070 0
FAEE=SHI 7,776,000& 7,776
OJlzgdRdget] 8,294,000& 8,294
202 04l 40,320 58,800 18,480
01 2LHoIH 40,320 58,800 18,480
OJl2g 8ol
280,000 «24 S +6E 40,320
203 HR=AH] 3,780 3,780
MU A2 LRSI 3,780 3,780
ORAMEZE =4 4,200,000 *90% 3,780




